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.M VNN DY DMIVAND DIV NN NXNN

.A(3,-11) ,B(2,-1,0), O(3,1,0): MMPI v1ow MmN (18

207 NN O NTIPINY DIVN HW 19T DY MINYNI B-Y A MTipn
A NTIPIA DIV PIYNN IWIN DY VNI NIND RN
(23¥191 NN XN W)
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IV MIAIVN

.. x=3y+8z=0 (1

.l 3Xx+6y—-z-6=0 (2

i y+2z+2=0 (3

. 12x+16y-z-1=0 (4
.t:y=0 (5

.(3,0,4) : TP OONN) (6
dix=t(1,9,13) (7

Tagep - 2Y+Z2+2=0 (8

7 y+2=0, 7,: X+y—-z-6=0 (9
1:x=(-5-13,0)+t(7,1,2) (10
A 20.5 (11

NP 4.46 (12

4
N — (13
J6

N 1.567 (14
N L2 (15
T, Y+22-6=0,7:2X+2y-2+7=0 .2 .Dapn 0N N (16

.m=—§ W m=4 (17

d:ix=(3-1L1)+k(-5-2—4) (18
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